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flare over time.
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f the graph?

c) (5.18)
l

4.What is th€initial value
6) START NG\
)l ¢) 18
d) o
5.What is the maximum value?
a) 6
b) 12.5

)

)
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For questions 4 and 5 refer fo the provided graph:

1. Choose the graph that best identifies the following situation: Maya and _Eix
were having a contest to see who could throw a ball higher into the air was

able to throw the ball higher than Erin, but Erin’s ball took much longer to land.

F Y

Fy

d)

Y

b) The flare was fired from a tree 5 feet above the
ground, and reached a maximum height of 200 feet.
c) Marcus’s flare reached a height of 100 feet after 2.5

seconds.
he flare reached a maximum height of 200 feet

after 2.5 seconds and stayed in the air for 5 seconds.

—_—

»
L8

m
2.Marcus Wasef.tranded and fired a flare vertically in the air for rescuers to see.
Use the provided graph to choose which description matches the height of the

a) Marcus fired the flare from the ground and it reached it’s gpnaximum height after 5

MEPH

o

b )

r

(25.200)

45

(5.0)

3. Choose the graph that best identifies the following situation: Charlie was
practicing his free throw shooting. On his first shot attempt the ball got stuck
between the rim and the backboard.
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Y
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6. FInd the coordinates oI the vertex oI the graph o1y = ?X — ‘ memuy the vertex

as 2 maximum of a minimum? Y= a0x-lo Q5% , VP
AP Oy b) (-6,0); minimum a is- (Jown
@0 -6); minimum d) (6, 0); minimum b x._._ -
20 Z())
7.1If the vertex of a quadratic graph is at the point{(4,5), then the axis of symmetl'y‘? X=0
a) (4, 5) b)y=4 Y=3(00%6=4
—4 d)x=5 (0,-b)

B %Farmer John wants to build a new pen for his horses. He has exactly 120 yards of
fencing to use. What is the largest area he can build the pen with?
a) 3600 yd? b) 900 yd?
c) 30 yd d) 30 yd by 30 yd

H ?(CJ plans to remodel and expand his home. It is currently 40 meters by S0 meters,
and he wants to expand the house uniformly on his plot of land to cover an area
of 2475 m”. How much did he expand the measurements of his home by?

a) 5 meters b) 45 meters by 55 meters
c) 2.5 meters d) 10 meters

I> ]X Sicily is planning to build a porch with railing against her house. She only has
200 feet of railing to use. What is the largest space her porch can cover?
a) 1500 ft b) 10,000 ft?
c) 2500 ft? d) 5000 ft?

11. The length of a rectangle is‘S less than twice the width. What is Atlle equation for
the area of the rectangle? Q s _5 - ql W)
a) w(5 — 2w) & W b) 2w + 2(5-2w) A = (AW - 5) W
c) 2w + 2(2w - 5) @w(zw - 5)

~_12.The equation of a quadratic graph is given as y = x> + 7’1 +12. What are the
‘95,0 the graph? C

Solu Dﬁ} 3.4} (b){-3,-4} ersS
x_’nl.o {(3 0)9 (‘43 0)} d) 12
oty
Tor questions 13 and 14: Mrs. Land wants to enclose her rectangular yard with 40
ending.
1¢(. She uses her house as one side of the rectangle?
a) 200 m’ b) 1600 m?
¢) 100 m? d) 400 m?

C u She doesn’t use her house as one side of the fencing?
a) 200 m? b) 1600 m*
c) 100 m? d) 400 m?
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'or questions 1> - ZU: 1 he height ol a ball 1S glven Dy the Iollowing equation,
h(t) = -16t* + 40t + 6, where t is the time in seconds and h is the height of the ball in feet.

4(&15 At what height is the ball released at? £ = () h(O)=- b (0N +400) b=
3 O 16. How high is the ball after 1 second? h( I) -\()( ”" fUOLﬂ"\ﬁ 30

€ind T * y="2_-30 .|
; S I 17. What is the maximum height? G@S ) o~ Z(-l[g)

EG yol\194
18. How long does it take to reach eell;l\a?imum llei!ght? (9 ~ ,('“ 9'5) +

X par r 9=29)
&,iﬂw Howpl?ng 15?1;(1; lxsm th%;l(l fm‘?h O O - _|(,t‘l+ l'lOt*b

raphun
[} 35_21@ Whelﬁﬁ“ at a height of 18 ft? K| P %

15 = ~lystrgpb + T =30

for questions 21 - 24: A diver dives straight down off a diving board with the following
quation, h(t) = -9.8t> -3t + 40, where t is the time in seconds and h is the height of tln#llvel in

eet. 't G A
4L(_Q 21. How high is the diving board? t = ) |2(b) = -9-F(0) =3(0)14Y40

_ ho) =0
o ' S 22. What is the axis of symmetry? s+ - lg =

200
I . ii ?: 523. When will the diver hit the pool?

~ 24. When will the diver have fallen 5 feet from the board? +5
NO NecaThve ¢.;_53L_w 1At 349
Tor quest&ns 25V29 concel t promoter profit'ts based on the price Q‘ ﬁ'('kas’i} ttn 30

ollowing function, p(x) = -3x2 + 240x -4500 where p is the profit in hundreds of dollars and t
5 the ticket price in dollars. ‘

‘ﬂiwlS What is the profit if the ticket price is zero? P(O) = ’}( O) +Zq O( 0) ngoj

26 What is the ideal ticket price to make the most money? a0S-= a—'k&;)

3 l"§7' w much will the promoter charge for tickets if he wants to make $10,000?
| 7 = 35+ L4054 200

0 < -5+t ‘{OX qeol

30_{:05& etween which ticket prices must the promoter charge to make a profit?

p(‘lO)»'S(‘fO) FZ4O(4D) -4500

What is the maximum profit the promoter can make? | 0%
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Apre the follow ing exponential growth or exp onential decay graphs?

1) y=—2-2 1

2) ¥=

ot ()

=X

i) y=5-2°

Ty y=2-3F

9 y=—3 2"

C

exponential growth graphs

i/ (=

this is a "reflection”

of exponential
growth

<

this is a "reflection”
of exponential
decay
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a. Table

1 y=3.2x

Exponential Function Review

X 1

0

1

2

3

2 -
y 0. 181.5

3

b

I

[A

Loromys

m

(circle one)

ﬂf("oocw

I d. Domain:

[\]

brge_ (0, 00 )

A

a. Table

. y=4-(/2)

x| -3

-1

0

1

2

2
y 32 lb

¥

y

(4

1

O

d. Domain:

. Growth o one)

[\]

e (0, 0

SUENE,

1009~ 1%

Name:

Date:

b. Graph

6raph the following functions, identify if it represents exponential
growth or decay and identify Domain and Range.

Y232 2035%
¥:310'= LS

—r

-
) I

~—r

—r

b. Graph

Find the base (b) value for the given situations:

l.'

3. Something is decaying,each year at a rate of 17%. (Hint: which mini-
formula should you use to find b?)
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Exponential Function Test Review

4. Something is gr‘owins each month at a rate of 6%.

b= ‘+.OLO

5. Each of these problem situations and table involves either a linear
function or an exponential function. Decide whether it is linear or
exponential. Then, write a y = - - - equation

is placed in a savings account. Each year, the account value
gr¥ows py 7%. Write equations for finding the account value after x

: X
Circle one: Linear or Exponential? y= 5 an ‘ I T . ()7')
b. SN\ b
x|][ o, V1 2 3 4 5 6 7
y 5 10 15 20 40

< 25 30 35
Circle onr' Exsponenﬁal? y= SX + S

6. 7. You buy a house for $130,000. Its val a rate of 6% per
year. Write an equation that models this situation, and find the value of your

house after 10 years.

a.) Identify the initial amount (a). b. Decay (circle one)
|30, 000

c.) Growth/Nasay Factor (b)

Ol 200001+ 06)
d.) Expone.n‘rial Equation (y = a * b¥) y= +. O(D)

\0
e.) Grigi : - OO (l ,—_-_(?
b iy 73000001 400) =
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Exponential Function Test Review

f.) Value of house after 10 years (Hint: don't forget that you may need to
check your units before using your equation!):

V= ]30000( [+ 06) =237310
7.You buy a computer for $3,000. Tts valuby 8% e.ve

How much is your computer worth afte

312: 3b mv

v=3000(1— (%) Aua. 0

[N
8. In a laboratory, they were testing a certain bacteria. They stated with 50
bacteria and they noticed it triples every 30 How many will

exist after :qz_l'!‘S y._, 50 (?))q < L‘ DS O

9. Simplify each of the below polynomials: 30

(4y x+3c:x2 5x) (Eé g+7x) b) (4mE 2m +é"(‘3m2-]5m+
byix T30xt +Lx Syt MEi3m

3y2(2x2 - 5yx +9) d) (2¢ - d)(3c + a)

Uy EiSy2x Y21y et Y 2ce. ~3de ~da usvdﬁ,a{
b t4+70cC —= ~3d - ad Vo
o \\Cbe

n alpheb&"
cal
o rder
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Exponential Function Test Review

10. Simplify the below exponents:

(), i b) ()’ (2y2)?
X 3(-13' xz.( 2) X3y3 xbyw
X(ﬂ . x""‘ X‘S-Ho y‘-‘"’b
xb"' -y = xz xq Y q
¢) (P’&0)"
Z'o "ox"o

10
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The heights, in inches. of 12 students are listed below.

61. 67, 72, 62. 63. 39, 60. 79, 60. 61, 64, 63

Which statement best describes the spread of these data?

ﬁ'lu set of data is evenly spread.

he median of the data is 59.5,

data.

L2+0Y_ (,2.5
-

%ﬂu set of data is skewed because 59 is the only value below 60.

4) 79 is aNputlier, which would affect the standard deviation of these

Histogram of b

o,

g o 0

.

3

o

=

=

o b
| I . |

9 5w

‘ B e B o M (T L

59 60 ¢1 LLLIUWHLS b}

- 1 . an . .
*1“” Maich the name in the left column with the correct number in the right column,

573

arts

sample median
sample mean

T iilmsbpeeprr YT 67.3

(b} Describe the shape of the distribution

SHhe woo(r:fj%f

May 22, 2019, Wednesday

Use the hjprogram of 90 chservations generated by R given below 1o answer the
N u\-‘ﬁvuliu'ﬂ.‘,

54 0Qu0 OO\ G2b 3BT 2

11
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S-ID....Interpret displays of data to
AIQEbra 1 EOC answer questions about the data
Practice #25 set(s) (e.g., identify pattern, trends,
and/or outliers in a data set.)

1. The graph below shows the value of a watch over many years.

18,000 I
16,000

iy o00 r.—.-‘

1z, 000 =
223

10,000 -

8,000 — B
6,000
2, 000
o —a
igg5o ig6o 1g7o 1580 igge

Value
{in dollars)

zooo 2010 2020

YEAR

{
What is a reasonable estimate of the value of the watch irGOOZ?;‘

A_14,100

N D. 12,000

2. The scatter plot shows the number of CD’s sold in 7 days at Bob’s Music Store.

CDs Sold at Bob's Music Store
40
35
30
25 L ]
20 L ]
15 °

1o, 21,1119, 15 5
10 L P "l-\ p
o Day1 Day2 Day3 Day4 Day5 Day6 Day7 “’)5,“0’1%) ?‘h

y

CDs Sold

~J

o~
L)
/

%
\,.J

11

For day seven, which number of CD’s sold would be considered an outlier?

A 9
B. 10
C. 25
D. 40

(RPE

12
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3. The average rainfall, over a period of years, is shown in the graph below.

ff. Average Rainfall

7.00 {
- 6.00 ‘VC H
s ' '
E_ 500 '
T 0
';.i% 4.00 ( \ go I u
s~ 300 / | | 7 5°]
L4 | e
2.00
' 55
1.00 # [
| N
0 10 20 30 40gpgds
”sl*l?lrr!l!eb?of Years since 1MM
If the trend continues, what is the best prediction
of the average rainfall in 20147
Favorite Colors
A. 8.1inches i
B. 4.7 inches
C. 59inches Orange &
D. 9.8 inches -
E. 31 =
Purple 2%
12%
29%
Yellow
Blue
Which statement i
supported by the data dispteyed in the
4. A total of 400 students were grrfgh? y
surveyed abt_)ut their favorite M A little more than half the
color. The circle graph shows the students chose either blue, orange, or
percentage of each color green as their favorite color.
students chose. Green was chosen as the
favorite color by more than half the
numb students as purple.
Blue was the favorite color of
29stiaehts. Yoo (.2N= |1V
Yellow and pink combined
were/€ho3en by more students than
orange.

13
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Algebra |l EOC
Practice #26

1. The mean amount of apples
purchased at a grocery store daily is
108 apples. What is the new mean if
the amount of apples purchased

triples? ’ 0 3
A. 108 X2
B 6 —
Qﬁi 32\
). There will not be a change.

2. Vanessa has 17 quarters, 8 dimes,
15 pennies, and 14 nickels in a piggy
bank. Which of the following
measures of central tendency will
change if she spends 4 quarters to

get a soft drink?
EE#_ N

C. mode

Identify the effect on mean, median,
mode, and range when values in the
data set are changed.

D. None will changQO P N

3. The range of a set of data is 15. If
each member of this set is multiplied
by 2, what is the range of the new set

of data?

A. 15 )'{5
7
D. 225 30

4. Julie has a data set for which the
mean is 41. Each value of the data
set is multiplied by 7. What is the
mean for the new data set?

5. Manuel observes that students in his
classroom purchase drinks in the
cafeteria as follows:

7 chocolate milks, 8 sport drinks, 5 %$
waters, 4 white milks, and leces )

and they both choose juice. How

Two students are added to the clas;.,,/
does that affect the median? ¢'

b&will not affect the median.
here is not a median

{TI'he number of juice drinks will

—double.

D. The median will be 63

6. Mike runs an average o@’uiles per
day. He is going to begin trairiag for
cross-country and wants to
the amount he runs per day.
will this affect the average amount he

runs? §

A. There will be no change in his
average.
B. His distance will increase by 2
miles per day.
g. Eis average will double. )
. His average distance will

increase by 3 miles.

7. This set of data shows the scores
that Tyler earned on his last 7
Algebra | tests. If the two lowest
scores are dropped, which state
is true?

%&%m&%mm
@ﬁg me mmncreage y5 pts

he median will increase by 3 pts.
he range will decrease by 8 pts.
D. The mean will increase by 7 pts.

9X 906 93 4 190

5,18
b ¢

WICOM

Tﬂﬂ

ns(p
(1\
¥

14
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Algebra |l EOC
Practice #27

1. Which scatterplot best represents a
positive linear relationship between
the variables x and y?

S-ID: Using a scatterplot, determine
if a linear relationship exists and
describe the association between
variables.

A. B.
i i
QI d ]
LENE :
7 7
r
G k- ]
E H @
4 f 4 . .
3 - v
E B, H hd o
1.P El
& 1] EEEE §|_7 —ol 2| 3] 4 & El_:'
C. D
1
7 L
i L]
% > ¥ .L_
£l F .'.
3 .L B | @
B o HIREL
1 i
_ul IEEEEEE 1 EEEEEE

2. What type of correlation is shown in
the scatterplot below?

i
]
e @
;a. ® |
®
5 [ ] @
3 8 @ e
®
._.‘
2=5|..
1
_5|123453?

A. Positive correlation
B. Negative correlation

3. Which graph best shows a negative
linear relationship between variables
x and y?

A ()

J

Lmowlmmb‘
L J
._'
Angbu)mma

C ¢ |4 ||
ﬁ..—_‘ @
0_.1]| 455‘]27 _ﬁ|12 454‘%

C D.

aawuaﬂmugloa

PERPPPPEPEP
P

4. What type of correlation is shown in
the scatterplot below?

N

2|3l1637

Positive correlation

Negative correlation
C. No correlation
D. Random correlation

15
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_+ .
Determine the factored form of the followti !gl Tell whether the graph of the quadratic
guadratic function. y =x° + 1ix + 18 W-IX function ¥ = —3x7 + x + 1 opens upwards or
———
+l 3 downward.

a) y=0x+ + 18)e
= 2’4’[03( 3X+ (3 ec—ause a< 0, the parabola opens downward.

+DHEFY = XLa2 w9 - |\& [~"Becausea >0, the parabola opens downward.
) y=(x+1)(x+11) ns u

Liam catapults a rock at 96 ft/s from a height
of 15 feet. The height of the rock is modeled

the correlation?

by the equation: h(t) = -16t% + 96t + 15. At a)—negativestrens—
what time does the rock reach its maximum b) positive perfect T
height? tive strong . Y
a) 1second o b | lati Ly
b) 2 seconds =g sEriai
3 seconds T '
@4 seconds
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May 23, 2019, Thursday

Write two good short answer questions for a final exam

& include the answer.

17
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May 24, 2019, Friday

Write two good multiple choice questions for a final exam
& include the answer.

18
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